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I Conclusion of interpretative flow of v.1 — X¥nn X¥nn was used (above) to expand 23 to include all n’5v5vn
a  Challenge: needed to teach that even if the nan is found in his yard - liable for Y93
b  Answer: if that was all that was intended, could’ve said Rxnn x¥nn or R¥nN R¥nN — use of participle and future = both
II  Pickup of 27's statement re: n223-0»N: 9P — pays as per value at time of N213; Y93 and 4/5 — pay per value at time of 172 nTRYN
a  Challenge (nww 77): X1 — if the animal was weak and got fatter (after n213) — 213 pays (92 and 4/5) as per nan nyw
i Defense: an fattened up the animal, why should 21 gain from that?
b Challenge: Xn»a ruling that if animal was fat and got weaker (after nan) — a1 pays (993 and 4/5) as per N2 nyw
i Defense: no difference if he kills it at one shot or slowly (by weakening it)
¢ Rather: 13 must be referring to case where market value changed
i However: if it appreciated, this counters n17’s ruling:
1  If: he stole a barrel of wine that was worth 1 and then appreciated to 4 at time of loss (=destruction)
(a) If: he damaged it directly — pays as per current value (4) — parallel is n77am1 nn»av (4/5)
(b) However, if: it became lost (destroyed) due to negligence — pays as per original value (1) — parallel — 993
d  Rather: must be case where it depreciated (e.g. 4>1); 17 is 4, all moap are as per 172 YN (1)
i Supporting 8117772 30 90 and then he admiited — and then n>1y came:
1  If: he admits before o1y came, pays 11p + 1/5 and nwy; if afterwards
(@) 3777 pays Y93 + DWR & the 593 counts for his 1/5 (?)
(i) Proposal: case where 4->1 —wmn (of 4)=593 (%93 [and, presumably 4/5] as per 1’72 NTAYN Nyv)
(b) Rejection: case was 4 = 4; but he took 4 oaths, and he pays multiple “fifths” as per number of oaths
(c) oroom: (as per v. 2) —never pays 1/5 unless he’s only paying 17p
(i) But: does bring nwx, “nR” interrupts (no need for nxy)
(d) »7aw7 also, no nwR if there’s a payment of 593 — nRy draws them together (“nk” needs to be written, to
distinguish between sancta [pWR] and mundane funds [wmin])
III  xy»R "1’s ruling and the subsequent analysis:
a  Ruling: if he steals a kid/calf and it becomes a goat/cow in his domain and he slaughters/sells - no 4/5
i Reason: it is now his own that he slaughtered or sold
b Challenge: in same case (kid->goat), ruling that he pays %23 and 4/5 as per original value
i Defense: if n1w (of age) isn’t mpn it to him, why does he pay as per original value — should be current value
ii  response: 233 answers that he stole a kid or calf, not a goat or cow
1 challenge: let the 213 be considered the owner by virtue of the appellation (wn = % x; %Y > n19)
2 answer: their adult names are associated from birth, as per vv. 3-4
iii  answer: nwW 1 - follows v"3, that a "W doesn’t effect a transfer of mw~
1 Background: if an 110X is given as unprocessed and is processed (e.g. wheat - flour), w”a prohibit (1”2 - 1mn)
(a) Reason: “nnr1vw oy’ — o3 includes on»11w (1”2 — o — not DY)
(i) Response (®73): on excludes M1 (n"a — those are excluded together; ba is unresolved challenge to n"a)
2 However: all agree that payment is made, as per original price, contra 21
3 Defense (27): if he pays with kids; as per original price. If he pays with money — as per current price
IV /737 notion that nw effects a 1737 is both in 70 and mwn:
a  72mv.5 -only if he can return the item as is does he do so; otherwise, he pays value (2 he was nnp via n1v)
b mwm inoywn p1a —e.g. if he stole wood and made it into ©*9, he pays as per original value (2 he was nnp via n1v)
c  wN%is np, but unclear if it is n”nn or v"MN:
i p’mp:akin to an NTaR
ii 0”7 NTIR came to the NTaR ’¥N legitimately — perhaps it’s only ™11 in order to encourage return (D2awn mpn)
1 g9op VR isn’t Np even "N
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